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1. (20%) Please find the general solutions of the following equations.
(a) (10%) (x% + 3xy?)dx + Bxly +y3)dy =0
(b) (10%) (4x + 3y*)dx + 2xydy = 0

2. (20%) Please solve the following equation by the method of Laplace transform.
y' =3y +2y=4t, y(0) =1,y'(0) = ~1

3. (15%) Please solve the following equation By the method of Laplace transform.
Yy +y' =14+68(t-2),y(0)=0,y(0)=3

Hint: 8(t) is Delta function, (Dif t£0,8(t)=0 (i) f S(hdt=1

4, (15%) Please solve the following equation by the Frobenius method.
dxy" + 2y +y =10

5.3 0%) Please solve the following equations by the method of undetermined coefficients.
(2)(15%)y" — 6y" + 9y = 2e3* + 9x + 3
(b)(15%) y"' +3y” +3y" +y =30e™*




